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Rijtuig 581 (Amsterdam — Basel) (optioneel)
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Rijtuig 182 (Amsterdam — Basel)

Rijtuig 183 (Amsterdam — Basel)

s I P

L =1l s
I
[]
I ik

[Tz fe s

3
I |
O__

L=k
U s [ 5
L Jhkeiels
0 [
I TEELRE
ﬂ LE [B |8

(N 2
L kR
i TRk
U [

I

U 2
(-3
(Y 2




Rijtuig 184 (Amsterdam — Basel)
met rolstoelplaats
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Rijtuig 151 (Amsterdam — Ziirich)
met rolstoelplaats
met fietsplaatsen

= S e == ==

QN%U'—'aem a6][s5. - sel[e5. — _esl[rs. — _7e][s5

&) 24][37 34][47 a4][57 54] [67
=8 [THRY

: 23 33 43 a8][53 3 68][7 8][83

, — = =L il el 1 2EILE, SIS

' 21 1 2281 320141 A21131 4 52181, o S2llit o 7281

Rijtuig 152 — 153 (Amsterdam — Zirich)
met fietsplaatsen
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Rijtuig 154 (Amsterdam — Ziirich)
met fietsplaatsen
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Rijtuig 156 (Amsterdam — Ziirich)

T IEIFIEIELE

L s P

(N 2
[
[
0 kk

[Tz I f

(N 2 2
0 ik
(N 2
kR
(N 2 2 2
U [
L W=kl
U & I 5
L _Tkelels
0 s P I




